
nghUspay; 

Nfs;tpia jPu;khdpf;Fk; fhuzpfspd; mbg;gilapy;  

Nfs;tpf;Nfhl;ghl;ilAk; Nfs;tp tjpapidAk;  

tiutpyf;fzg;gLj;Jjy; 

 



juk;: 12>13 

njhFg;G : jpU. m. gpughfud; (Mrpupau;> aho; Gdpj n`d;wpauru; fy;Y}up) 

fzpdp tbtikg;G : jpU.rp.ckhfhe;jd; (j>njh>njh> Mrpupau;> ah/aho;g;ghzk; kj;jpa fy;Y}up ) 

Nfs;tp 

Fwpg;gpl;l fhyg;gFjpapy; Fwpg;gpl;l nghUspd; tpiy jtpu;e;j Nfs;piaj; jPu;khdpf;Fk; 
Vida fhuzpfs; khwhepiyapy; Fwpg;gpl;l gz;lj;jpw;F epyTk; gy;NtW tpiyfspd; 
fPo; nfhs;tdT nra;a vjpu;ghu;fpd;w gy;NtW njhiffs; Nfs;tp vdg;gLk; 

Nfs;tp Vw;gLtjw;F mtrpakhd tplaq;fs; 

tpUg;gk; 

nfhs;tdT rf;jp/ Mw;wy; 

nfhs;tdT nra;tjw;fhd  

Maj;jk;/ jpl;lk; 

Nkw;gb tplaq;fspd; mbg;gilapyhd Nfs;tpahdJ gad;gL Nfs;tp vdg;gLfpd;wJ 

1 

7 

2 

3 

4 

5 

6 

Fwpg;gpl;l gz;lj;jpd; tpiy (Px) 

Efu;Nthdpd; tUkhdk; (y) 

Efu;Nthdpd; Rit (T) 

Efu;Nthd; njhifAk; mjd; fl;likg;Gk; (N) 

Vida fhuzpfs; (O) 

vjpu;fhyk; gw;wpa vjpu;ghu;f;iffs; (Ex) 

njhlu;Gila gz;lq;fspd; tpiyfs; (Pn) 

Nfs;tpia jPu;khdpf;Fk; fhuzpfs; 
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njhFg;G : jpU. m. gpughfud; (Mrpupau;> aho; Gdpj n`d;wpauru; fy;Y}up) 

fzpdp tbtikg;G : jpU.rp.ckhfhe;jd; (j>njh>njh> Mrpupau;> ah/aho;g;ghzk; kj;jpa fy;Y}up ) 

Nfs;tpapd; tiffs; 

 

jdpegu; Nfs;tp re;ijf; Nfs;tp 

1 2 

jdpegu; Nfs;tp 

Fwpg;gpl;l fhyg;gFjpapy; re;ijnahd;wpy; Fwpj;j nghUspd; 
tpiy jtpu;e;j Nfs;tpiaj; jPu;khdpf;Fk; Vida fhuzpfs; khwh 
epiyapy; Fwpg;gpl;l gz;lj;jpw;F epyTk; gy;NtW tpiyfspd; 
fPo; nfhs;tdthsd; xUtupdhy; nfhs;tdT xUtupdhy; 
nfhs;tdT nra;a vjpu;ghu;f;fg;gLk; gy;NtW njhiffs; jdpegu; 
Nfs;tp MFk; 

re;ijf;Nfs;tp 

Fwpg;gpl;l fhyg;gFjpapy; Fwpj;j re;ijnahd;wpy; Fwpg;gpl;l 
nghUspd; tpiy jtpu;e;j Nfs;tpiaj; jPu;khdpf;Fk; Vida 
fhuzpfs; khwhj epiyapy; Fwpg;gpl;l gz;lj;jpw;F epyTk; 
gy;NtW tpiyfspd; fPo; re;ijapYs;s rfy 
nfhs;tdthsu;fspdhYk; nfhs;tdT nra;a vjpu;ghu;f;fg;gLk; 
gy;NtW njhiffs; re;ijf;Nfsptp vdg;gLfpd;wJ  

re;ijf;Nfs;tpiaAk; jdpegu; Nfs;tpiaAk; 
NtWgLj;Jfpd;w Nfs;tpiaj; jPu;khdpf;Fk; 
fhuzpfspy; xd;whd “ Efu;Nthu; njhifAk; 
mjd; fl;likg;Gk; “ mikAk; 
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njhFg;G : jpU. m. gpughfud; (Mrpupau;> aho; Gdpj n`d;wpauru; fy;Y}up) 

fzpdp tbtikg;G : jpU.rp.ckhfhe;jd; (j>njh>njh> Mrpupau;> ah/aho;g;ghzk; kj;jpa fy;Y}up ) 

Nfs;tpj; njhopw;ghL 

Nfs;tpiaj; jPu;khdpf;Fk; ve;jnthU fhuzpapdJk; 
khw;wj;jpw;F ,irthf Fwpg;gpl;l gz;lj;jpd; Nfs;tp 
khw;wj;jpd; tpistpidf;fhl;LtJ Ns;tpj; njhopw;ghL 
MFk; 

Nfs;tpj;njhopw;ghlhdJ Nfs;tpr;rhu;gpd; 
%yk; tpsf;fg;gLfpd;wJ 

jdpegu; Nfs;tpr;rhu;G  

Qd=f(Px, Pn, y, T, Ex ) 

re;ijf;Nfs;tpr;rhu;G  

Qd=f(Px, Pn, y, T, Ex, N ) 

jdpegu; Nfs;tpfisf; $l;Ltjd; %yk; 
re;ijf; Nfs;tpapid ngw;Wf; nfhs;s 
KbAk; 
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tpiy (&gh) 

 

A apd; Nfs;tp 
myFfspy; 

 

B apd; Nfs;tp 
myFfspy; 

 

C apd; Nfs;tp 
myFfspy; 

  

Re;ijf; Nfs;tp 
myFfspy; 

 

0 

 

100 

 

100 

 

150 

 

350 

 

10 

 

80 

 

90 

 

125 

 

295 

 

20 

 

60 

 

80 

 

100 

 

240 

 

30 

 

40 

 

70 

 

75 

 

185 

 

40 

 

20 

 

60 

 

50 

 

130 

Nfs;tp tpjp 

Fwpg;gpl;l fhyg;gFjpapy; Nfs;tpiaj; jPu;khdpf;Fk; tpiy jtpu;e;j Vida fhuzpfs; 
khwhj epiyapy; Fwpg;gpl;l gz;lj;jpd; tpiyf;Fk; mjd; Nfs;tpj;njhiff;FkpilNa 
vjpu;f;fzpa njhlu;G fhzg;gLjidf; Nfs;tp tpjp Fwpf;Fk; 

Nfs;tp tpjpf;fhd vLNfhs;fs; 

Fwpg;gpl;l re;ju;g;gnkhd;wpy; tpiyAk; 
Nfs;tpj;njhifAk; fUj;jpw; nfhs;sg;gLjy; 

tpiy jtpu;e;j Nfs;tpiaj; jPu;khdpf;Fk; 
Vida fhuzpfs; khwtpy;iy 

rhjhuz gz;lnkhd;wpd; Nfs;tp fUj;jpw; 
nfhs;sg;gLjy; 

Efu;Nthd; gFj;jwpthsd; 

1 

2 

3 

4 
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Nfs;tp tpjpia Kd;itf;f$ba Kiwfs; 

Nfs;tpg;gl;bay; / ml;ltiz 

Nfs;tpf;NfhL 

Nfs;tpr;rkd;ghL 

Nfs;tp ml;ltiz / gl;bay; 

Fwpg;gpl;l fhyg;gFjpapy; Fwpg;gpl;l gz;lj;jpd; tpiy jtpu;e;j Nfs;tpiaj; 
jPu;khdpf;Fk; Vida fhuzpfs; khwhj NghJ Fwpg;gpl;l gz;lj;jpw;F epyTk; 
gy;NtWgl;l tpiyfspy; nfhs;tdthsu;fshy; nfhs;tdT nra;a vjpu;ghu;f;fpd;w 
njhiffisf; fhl;Lk; gl;bay; Nfs;tpg;gl;bay; MFk; 

tpiy (&gh) Nfs;tpj;njhif (myFfs;) 

0 500 

10 400 

20 300 

30 200 

40 100 

50 0 
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njhFg;G : jpU. m. gpughfud; (Mrpupau;> aho; Gdpj n`d;wpauru; fy;Y}up) 

fzpdp tbtikg;G : jpU.rp.ckhfhe;jd; (j>njh>njh> Mrpupau;> ah/aho;g;ghzk; kj;jpa fy;Y}up ) 

Nfs;tp tisap 

Fwpg;gpl;l fhyg;gFjpapy; Fwpg;gpl;l nghUspd; Nfs;tpiaj; jPu;khdpf;fpd;w tpiy 
jtpu;e;j Vida fhuzpfs; khwhjNghJ Fwpg;gpl;l gz;lj;jpw;F epyTk; gy;NtWgl;l 
tpiyfspd; fPo ; nfhs;tdthsu;fshy; nfhs;tdT nra;a vjpu ;ghu ;f ;fpd;w 
Nfs;tpj;njhiffisf; fhl;Lk;Gs;spfis ,izj;J tiuag;gLk; NfhL Nfs;tpf;NfhL 
MFk; 

tpiy(&gh) 

Nfs;tpj;njhif (myFfs;) 

Nfs;tpr;rkd;ghL 

Fwpg;gpl;l fhyg;gFjpapy; Fwpg;gpl;l gz;lj;jpd; tpiy jtpu;e;j Nfs;tpiaj; jPu;khdpf;Fk; 
Vida fhuzpfs; khwhjNghJ Fwpg;gpl;l gz;lj;jpd; tpiyfSf;Fk; mjd; 
Nfs;tpj;njhiff;Fkpilapy; fhzg;gLk; vjpu;f;fzpa njhlu;gpid rkd;ghl;L %yk; 
fhl;Ljy; Nfs;tpr;rkd;ghlhFk; 
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NkypUe;J fPo;Nehf;fpr; rupe;J nry;Yk; Neuhd Nfs;tpf; Nfhl;bw;Fupa rkd;ghL gpd;tUkhW 

Qd= a – bp 

Qd 

a 

b 

p 

Nfs;tpj;njhif (rhu;e;j khwp) 

Fwpj;j gz;lj;jpd; tpiy (rhuhkhwp) 

Nfs;tpf;Nfhl;bd; rha;tpd; jiyfPo; tbtk;  

tpiy G+r;rpakhFk; NghJ Nfs;tpj;njhif / 
Mff;$ba Nfs;tpj;njhif 

tiuG fhl;lg;gLk; Kiwapy; Fj;jr;rpy; rhu;e;j khwpAk; fpilar;rpDs; rhuhjkhwp 
Fwpg;gplg;gLtJ tof;fhFk; Nfs;tpf;Nfhl;bw;fhd tiugpy; Fj;jr;rpy; rhuh khwpAk;  
fpilar;rpy; rhu;e;j khwpAk; fhl;lg;gLtjhy; Nfs;tpf;Nfhl;bid ruptpid        
jiyfPo;g;gLj;jpa rupT vd;gu; 

NkNy fhl;lg;gl;Ls;s ml;ltidf;Fupa Nfs;tpr;rkd;ghL fPNo fhl;lg;gl;Ls;sJ 

    Qd = a - bp  Qd  = 400 

       b =∆Qd = -100 = -10 

            ∆p       10  

       p = 10 Ugh 

        

Qd, b,p vd;gtw;iw Qd=a– bp vDk; rkd;ghl;by; gpujpapLk; NghJ a apidg; 
gpd;tUkhW fzpg;gpl KbAk;. 

     Qd  = a - bp   

     400 = a - 10*10 

     400  = a - 100 

     a = 500 

a=500 kw;Wk; b= 10 vd;gjid Nfs;tpr;rkd;ghl;by; gpujpapl;lhy; 

Qd = 500– 10p vd rkd;ghL mikfpwJ          
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rhjhuz gz;lnkhd;wpd; Nfs;tp tisap ,lkpUe;J tykhf 
fPo;Nehf;fpr; rupe;J nry;Yk; ,jw;F fhuzk; nghUspd; 
tpiyf;Fk; Nfs;tpj;njhiff;FkpilNa vjpu;f;fzpa njhlu;G 
fhzg;gLtjhFk;. ,jidNa Nfs;tp tpjp Fwpf;Fk; 

Nfs;tp tpjp njhopw;gLtjw;F fhuzk; “tpiytpisT” 
MFk;. tpiy tpisthdJ gpd;tUk; ,uz;L 
tbtq;fshy; MdJ. 

1. tpiykhw;wnkhd;wpd; gjpyPl;L tpisT 

2. tpiykhw;wnkhd;wpd; tUkhd tpisT 

gjpyPl;L tpisT 

Nfs;tpapy; nry;thf;Fr; nrYj;Jk; Vida fhuzpfs; khwhjpUf;f Fwpg;gpl;l 
gz;lnkhd;wpd; tpiy mjpfupj;jy; my;yJ Fiwjiy mbg;gilahff;nfhz;L 
mjd; rhu;G tpiyfs; $Ljy; Fiwjy; fhuzkhf Fwpg;gpl;l gz;lj;jpd; 
Nfs;tpj;njhif khw;wkiltJ gjpyPl;L tpisthFk; 

tUkhdtpisT  

nfhs;tdthsupd; gz tUkhdk; cl;gl Viza fhuzpfs; khwhjpUf;f Fwpg;gpl;l 

gz;lj;jpd; tpiy FiwT / $Ljy; fhuzkhf nfhs;tdT nra;af;$ba msT 
my;yJ nka;tUkhd khw;wq;fhuzkhf Fwpj;j gz;lj;jpd; Nfs;tpj;njhif   

mjpfupj;jy;/Fiwjy; tUkhd tpisT vdg;gLk; 
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Nfs;tp tpjpf;F Kuzhd re;ju;g;gk; 

fpgd; gz;lk; 
fhl;rpg;gz;lk; 

,g;gz;lj;jpd; tpiy mjpfupf;Fk; NghJ Nfs;tpj;njhif 
mjpfupg;gJk; tpiy FiwAk;NghJ Nfs;tpj;njhif 
FiwtiltJk; tpiyf;Fk; Nfs;tpj;njhiff;Fkpilapy; 
Neuhd njhlu;gpidg; Gyg;ggLj;Jfpd;wJ. 


